Loading in beams

Determine the resultant internal loadings acting on the cross section at C of
the cantilevered beam shown in Fig. 1-4a.
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Courtesy: Mechanics of Materials, Tenth Edition in SI Units, R. C. Hibbeler
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This problem was solved by Civil Thinking (https://civilthinking.com) NOTE:
If you need solutions of Strength of Materials questions or any other Civil
Engineering subject questions, contact us at:
solutions@civilthinking.com

Or submit your problem directly here:

The solution provided in this document
is the intellectual property of Civil
Thinking and is protected by copyright.

Any reproduction, distribution, or
& https://civilthinking.com/getproblemsolutions publication of this content, in whole or

in part, is strictly prohibited without
prior written permission from
https://civilthinking.com.
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